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39- They will have the servant......... their houses next
week.
1) to clean 2) cleans
3) cleaning 4) clean

40- When | arrived at the airport, | got a porter........ my
suitcasesin to the car.

1) carry 2) carries

3) carried 4) to carry
41- Some people believe that we shoudn’t.............
economic sectionsin the capital.

1) centralize 2)redlize

3) summarize 4) memorize
42- Thereis no advantage in lying if he knows the truth
already. “ Advantage’” means..............

1) attempt 2) impact
3) effort 4) benefit
43- He doesn’'t remember what.
1) Ali said 2) doesAli says
3) did Ali say 4) will Ali say
44- How much doesa....... of bread cost in your city?
1) jar 2) loaf
3) packet 4) bar
45- Please buy some coffee. We're.......... of it.
1) runinto 2) run out
3) alot 4) run

cloze passage:

Read the following passage and fill in the blanks with
the best choice.

penguins get their food from the sea, Although these
birds have wings, they never ........... 46 ........... They use
their wings for swimming. Their home is on.............. 47
......... When penguins are born, they are afraid of water.
Their............... 48 ........... have to search for food for
themselvesand for their........ 49........ When autumn days
grow shorter and it gets cold, penguins......... 50 ........ to
new homes. There, young penguins must learn how to
swim and how to find their own food.

46- 1) play 2)fly 3) try 4) search
47- 1) farm 2) land 3) canal 4) mine
48- 1) parents  2)relatives  3) bosses 4) servants
46- 1) children 2) babies 3) sisters 4) brothers
50- 1) educate 2) graduate  3) migrate 4) create
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